
Population 
distribution

Repeatedly take 
samples of size n 
and calculate…

The distribution 
of those sample 
statistics will 
approximate…

(if n is large and σ is known) (if σ is known)

with 
parameters…

Other notes:

If σ must be estimated from 
the data, then the distribution 
is: 

where   

If σ must be estimated from 
the data, then the distribution 
is: 

where   

Notice that this only holds 
when the population follows 
a normal distribution.
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Repeatedly take 
samples of size n 
and calculate…

The distribution 
of those sample 
statistics will 
approximate… (if n values are large 

and σ values are known) (if n values are large)

with 
parameters…

Other notes:

If σ must be estimated from the data, then 
the distribution is: 

where   
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